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ac+bc = (at+b)c
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[1] ROAXDFEHEAL E L DRIV,
(1) 7a+5—a (2) 6xy+Tx—8xy (8) x—3y+2x—y
(4) 6a+3ab—7ab+a (5) —9a—a2+7a—3a2
[2] ORXEFE LRI,
(1) 3x—5—9y—3x+2y+7 (2) 8ab+3a—9ab—2b+6a—"7b
(3) —a2+7b2—ab+b2+ab (4) 3x2—4xy—4x2+2y2—3xy
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(5) 0.8xy—1.2x2—xy—2.8x2 6 Eaz — gb — gaz +ab — Zb
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(1) 6a+t5
2 —2xy+7y
(3) 3x—4y
(4) 7a—4ab
(5) —2a—4a2

[2]
1 —7y+2

(2) —ab+9a—9%
(3) —a2+8b2
(4) —x2—Txy+2y2

(5) —0.2xy—4x2

6 =2az—2p+ab
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(1) 5X=7a—at+b5=6a+5

(2 5 =6xy—8xy+7x=—2xy+ 7Ty
(3 HAX=x+2x—3y—y=3x—4y

(4) EHxX=6ata+3ab—7ab=7a—4ab
(5) HxX=—9a+T7a—a2—3a2=—2a—4a?

[2]
(1) 5X=3x—3x—9y+2y—5+7
=—Ty+2

(2) 5H=A=8ab—9ab+3a+6a—2b—7b
=—ab+9a—9

(3) Hx=—a2+7b2+b2—ab+ab
= —a2-+8b2

(4) 5 =3x2—4x2—4xy—3xy+2y2
= —x2—Txy+2y?2

(5) 53:=0.8xy—xy—1.2x2—2.8x2
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